I\
100

¢
90

80

70

60

50

® 90 @ 72% ® 91.5

@ 175.5

1
)

@ 65



F

oN

H

oA 2648 9] 2] $-AHE A3

Zgote] L Jheb g

S}
=

stk o] 21¢-70E 100



W]

o

—_—

=y
ol

™ o

{|n
oL
<

ol
i~

o

1L 9] #H¢

3.



e

@ W oBeL ® H=z=oAiar

O HLBeAC

® W ooz

@ Wuaouvixo



B2 W

HAo) AMEE By Weoeowy} 3§

[e)
=

Z]
4

5.

o

@O WH-LcE

® M =xrox

@ W agiAx



Al

ol

o

o

Aol ANEAA B 4 0 %23}

IHAE

DO Hc=oLo

AORXRZ

B



1523} 36015191 A% FolA 608 tiro] WolAe 4k 1
2 U7t

B e ol



8.

== ARtstA L,




9. The oA AT FHO| Yol B F5HA|0.

2
25
\
' 9
23
/
\\\~ 3-—”,’
2
©) i’)lcm2 @ 10— cm?
; s
il 2 T 2
@ 815cm ® 815cm



10. 67x34=2278 4% o]gato], [ Jotef ok

6.7x0034= |
o=

Mo

s
T

i
>
i
o



11.

S A5 [ RtolE BE Ze 57k Bl 148
SOl LEAL,

@ 0.325 x| |=325

@[ ]x1.05=105

@& 0.056 x| =56
® 1 @ 10 ® 100 @ 1000  ® 0.001



12.

3+ 7ol 300 ot= HAHE 270 APH kAt 9 JHE o
3k g Aol Quba F3 4 Alo] U

N [e]
W e 4



13. 12k FAII0} weh FALSIE FAI0 B ), deo] BE 5] ep4t
e TFs RS S AL,

| =
W=



14.

ghzoh Aol tSluteIng @
LhehpAL 2.

@

W
Wl N
N |

= Abgre] v



25 HAFO R of= AT
£ 2EHE HE oA L,




‘_aO

—

_XO
7

wmf
1| o

op

el

)

®
A8
Hc
A



17. 176x248 = 43648 & &
T2AQ.

@D 176 x 0.248 = 43.648
® 176 x 24.8 = 4364.8

® 1.76 x 24.8 = 43.648

@ 0.176 x 248 = 43.648

@ 17.6 x 248 = 4.3648

tlo



18. 2di & A1zko] 26km 4 AL, Gk

e}, ealsh A7} ole} 2o mere 2
AL Aale] A @ km 914 FoHA Q.

> R ~ Im



55 L
tlo z& dlo

8 Lo

CIRE]

Sl 51 24 ol 1 Zoleh 3Ug 2Afsho] Lhehd
-2

S %
ofsh= Mol 2 Fotshs PR 2 7 o
7h4 78 23 78 PIREQl helg AR Zhop AL,

1k
O](PN Oé

—}

a1

4

s

4
H‘{
4
&

Ak || e Al
5 2 7 |24

i)
4

)
oZ,
4
ol




20 o3|
. ]jI_O
O 0
29 3 214 Gpot 2
LCL2 = -
: o= @
] 1 4]
< F)I oﬂ j=
' = %—QQE]}H & 9
= P
| /‘%7}_2_'1'7_}' 3|
; H%o [q
=
-
A A
ol 17
o] ]-;q-

R

rlo
N 5

Mo
N
g [T

Y
rlo



